N = 0l & At & Ml A

A 3E2SA
M 21 = Lo - ¥
Sl HEAX A U MEYE HBo CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
2SS4 5,230,880 5,244,380 A 13,500
2 14,996
< 13,248
Al 5,202,636
21C 8= x99 - FE 5,178,748 5,194,332 A 15,584
= 14,996
< 13,248
Al 5,150,504
FEAX ola & A= FEE0H 1,034,786 901,230 133,556
= 6.720
< 13,248
Al 1,014,818
dEstus 22l 234,204 272,564 238,360
201 et 185,804 82,004 103,800
01 At 22l 179,204 75,404 103,800
OF=2BusdyH 29 38,160
OZEUEFA A2FHI 14,160
- et 100,000& = 6O + 12 7,200
-EU4 220,000& = 9CH = 20K 3,960
-—HEZAEH #HE 750,000& * 404 2 3,000
Ogxt=z 24,000
-SERuU=sdd 2,000,000& = 12& 24,000
OF=Estusul 2 10,000& * 2,000 20,000
OZE WY AH| 220,000 * 123 2,640
OHEJWEE AZEYH P2 14,404
OMS-0ffice 348,920 » 2604 9,072
Ogt=2 205,040& = 264 5,332
OgZe Al HE5NE 2AsY
80,000& = 8F « 150¢ 96,000
O32¥ FESuE LAY
80,000& = 2% = 50¢& 8,000
02 =224l 6,600 6,600 0
OZEBNSUH MRS
550,000& * 1A * 128 6,600
307 21240 12,000 9,360 2,640
05 BIZERIE 3 12,000 9,360 2,640
OZEuIE FAUEAY
1,000,000& = 12& 12,000
405 XHoHF S HI 36,400 45,200 A 8,800
01 HatH ESFH S 36,400 45,200 A 8,800
OL= ARI1D1 A 36,400
Ol sz =H 1,400,000& * 260H 36,400
Y¥Pslls ZT2IdBN SL(2F) 32,420 32,972 A 552




A 3E2SA
M 21 = Lo - ¥
Helr E2AX ofia ¥ AZgsE FEL0 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 6,720
< 6,048
Al 19,652
307 i+l & 32,420 32,972 A 552
= 6,720
< 6,048
Al 19,652
02 IZtE M AMHEE 32,420 32,972 A 552
OdE30Ig T2 2A2h 24 32,420
ool 13,440,000& * 204 Ot= 26,880
= 6,720
< 6,048
Al 14,112
OMZHI(EI2Z, 4HEEE)
2,770,000& = 201 Ot= 5,540
FEsi0tg 29 43 (AHH) 6,840 5,400 1,440
202 Odl 1,440 0 1,440
01 = LH 4 Hi 1,440 0 1,440
OZEsuE, ZESH0S S E2IIE HRF
& ol 20,000& = 2 * 3¢ * 123 1,440
301 gtE L= 5,400 5,400 0
09 SALAHIEA S 5,400 5,400 0
OZEOIE WE & AAEFA 04l
30,000& = 12H = 103l 3,600
OZEL30tE AL FOHH|
600,000& = 301 Ot= » 18] 1,800
2302 2% 43 (EX) 24,000 24,000 0
= 7,200
Al 16,800
307 21201 A 24,000 24,000 0
= 7,200
Al 16,800
02 It S AIHE L 24,000 24,000 0
OZ=2=0ls 2g 438
8,000,000& = 304 Ot= 24,000
< 7,200
Al 16,800
FEBOAIAE 2H2e] 737,322 566,294 171,028
201 Let24d] 450,338 348,380 101,958
01 At 2teltl 76,200 1,200 75,000
ONEEESWNE MY
80,000& » 52 = 33 1,200
OMABEEEIIE2ACAIAE 2ZEAN
75,000,000 * 14 75,000
02 232gHl 374,138 347,180 26,958




SA HEEATD
M 210 M2 DO -HE P
CHelr HEAX A L AFYs PO EERED
SN EB S (3H) - NBAY - B2 ofl &t o ﬁlgﬁ HD=2
O2NETEANT Aoot BOAAE S U] 16,6902
O3 22| Ab 184,0008 * 128 2,208
OUASBEOHRH(19TH) 1,207,000 * 122 14,484
OXNsSE &0 ARAIALY XA 66,900
OglszeAAE 2,102,0008 * 122 05,224
OF EEBR Al AE 1,062,0008 » 128 12,744
OEYXIEAIAE 1,004,0008 + 128 12,048
OS2 A AL 1,407,002 * 122 16,884
OUEST EMAD S QX HI
405,0008 * 12 4,860
OUESI E2MOUAAE QX L2
4,957,0008! * 128 59,484
OAMOIHIE S HeAXS T272 ¢4 o0lc
SN (14 2Hol&A) 18,000
OFEBANAE & (Secui v1.5)
500,0008! * 12 6,000
Od & & (WebScan v1.4)
1,000,0008! * 128 12,000
OFAXE £ OHEH| QX 30,2508 « 128 363
OMBIE HIOIAABA 20 0IE XY (14
2Hol& &) 356,0008 * 60X 21,360
OPCE HIOIMAMAl AH OIS QAH(1E 2
Ol & A) 26,0002 * 1,500% 39,000
Hotmpla2 A 40d0S SXHI(1E 2t
MA) 865,0008 * 1X 865
OMOIHEESAIAY 20 0I= S (14
2Hol & &) 28,6002 * 1,500% 42,900
OEOHII X 2l AIAE 20 0I= Sl (14
2Hol & &) 28,6002 * 1,500% 42,900
O S8 OSBRI Al AE S8 2|
742,5008 * 128 8,910
OAPCAH B S XIS 2t 92,0008 * 12% 1,104
OLWPCXIZI0l € IO0IE SN (18 20l & A)
15,4002 + 2,000% 30,800
OMOIEERE A LS
20,000,0008 * 14l 20,000
207 SR INLHI 110,000 100,000 10,000
01 IR 110,000 0 110,000
OFES J2HE L ADE AE AHRY
110,000,0008 * 14l 110,000
401 A& Bl L S | 46,396 29,314 17,082
01 A&l 45,900 29,000 16,900
ORQIDIFYTI R oA AX ALY 45,900
ot 5 5} B OF & Y| 1,700,00090 * 2790 A 45,900
03 A& 20l 496 314 182




A 3E2SA
M 21 = Lo - ¥
el BEAX A U MTs HEPo (S &2)
= _ — d =
SA - BB B (BA) - MM - BHES Ol &+ o4 e HmEET
OFESUEOAIAE A ALY
45,900,000& = 1.08% 496
405 XHoHF S HI 130,588 88,600 41,988
01 AL ESFH S 130,588 88,600 41,988
OAOIH EHid ZXE SetAIAE
60,000,000& = 24! 120,000
OMNUEBEFEKIISZCIAAE A
10,588,000& * 14 10,588
AEItss DFH FEMHA WS 2,102,682 2,182,437 AT9,755
= 8,276
Al 2,094,406
FEHNLYR 22Y 153,020 124,140 28,880
201 Let24d] 149,860 123,140 26,720
01 At 22/l 149,860 123,140 26,720
OSH=HI2EE 2t H3E S/W 2LHI(38 35
0=2) 100,000, 000& 100,000
OBZANLSEAIAAE HIZE E(S/W) 25
ot 10,000,000& * 14 10,000
OANLHMHOIE SHHBRS M4 SN 2Y
33,000,000& * 1A 33,000
OZeglH 2E& JIAM 2 2,200
oger Zgly &Y 220,000& * 504 1,100
OXN&EE ZgHd EH 220,000& = 504 1,100
OzdZed 228 JIANM 2L 4,660
oed 500,000& =« 1H 500
OE U (34) 660,000& = 14 660
OEHEHIANE 1,300,000& * 1Set 1,300
OFMRY(2E) 1,200,000& * 14 1,200
OEHAHIAE(2E) 1,000,000& = 104 1,000
202 4 Hl 2,160 0 2,160
01 = LH 4 1l 2,160 0 2,160
OFEsAIY HRZ=X N
20,000& = 3F * 3 * 123 2,160
203 YR =2t 1,000 1,000 0
03 Al =AY R =& 1,000 1,000 0
OFEANHIA 2435 RFZ 1,000,000& 1,000
HEZEANAEH 2% L 722 1,247,883 1,153,956 93,927
201 £B-2dH| 1,037,864 999,204 38,660
01 At 22/l 19,000 10,000 9,000
OAMEES PCLISFI & F&
100,000& * 100CH 10,000
OuPsErdIi el 1 Xl (250AH-12V, 20EA)
300,000& = 304 9,000




A 3E2SA
Ha: 210 @2 2 DO -BF P
el XSItss 188 F32BMHA M3 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
02 =224l 1,018,864 989,204 29,660
OTLAIAE KX E=HI 866,586
OAM B (41TH) 19,001,000& * 12& 228,012
OMEZXI(1404) 8,046,000 = 12& 96,552
OJIEFEHI (KYM,N/W, 2o ZHHI 8 ) 140H)
5,026,000& = 12& 60,312
og=2&8s21(40) 458,000& = 123 5,496
ORTHMAZX(5L) 1,005,000& * 12& 12,060
O2EIZa )3 (3R2E) 16,678,000& * 12& 200,136
OnE#y gxpelALg
6,648,000& = 12& 79,776
OgRNIZL (2L, ACE)
8,730,000& = 12& 104,760
Otz S 2elAlAH 1,800,000& * 128 21,600
OUZEE SHE2NAY
1,137,500 * 128 13,650
OBWURE SHLYMHIA
650,000& = 12& 7,800
OS/NE A & 495,000& ~ 12& 5,940
OUHEHIISHHEAAE 444,000& « 123 5,328
O2Ltet Al A &l (RDBMS) 953,000& = 12& 11,436
OITRHEH2E 2| Al A B 910,000& = 12& 10,920
O3 A AE 234,000 » 12& 2,808
OFUZ =000 A A 550,008 * 14 550
Ol 8 FEH(1,667CH) 10,806,000& = 128 129,672
OdIoIMEelH 1,838,000& * 12& 22,056
308 MtXIEHMSOIH 158,019 0 158,019
103N 2SoeBaE AL 158,019 0 158,019
OZSJIgt MLEH |X2e2ltl
109,853,000& * 13/ 109,853
O=SJIE Moll=7 KX 22l
16,006,000& * 12l 16,006
OME MHlAOAZ |X2e2ltl
6,160,000& = 13l 6,160
O2Ut2tAIAE S/W X122l
26,000,000& = 13l 26,000
403 A X EHHS =0l A 52,000 154,752 A 102,752
02 SO 2SO HSHAHE X CHE At H 52,000 154,752 A102,752
SSI18 ==l wMAMSE
52,000,000 = 13l 52,000
ANZFREEs BSIIg AlAEH 2= 5,113 5,113 0
= 2,239
Al 2,874
201 et 5,113 5,113 0




21C &= 19 -3 &
A&Jtse nEZ d2MHA W3 )
SN BA(SA) - MRAY - BES il HImEET
= 2,239
Al 2,874
01 At 22l 5,113 5,113 0
OL-ZFZH A & FEEHAZAY 2lAzs
1,278,130 * 43l 5,113
= 2,239
Al 2,874
ANZ Hol=S2HAH 2SA 26,217 35,428 A9,211
2 6.037
Al 20,180
201 ¢er24] 26,217 35,428 AQ,211
2 6,037
Al 20,180
01 At 22l 26,217 35,428 A9,211
OANZ+ MiE2HA FSAY 2lAz
8,738,820& =« 33| 26,217
= 6,037
Al 20,180
HYMLATH SHSAHFA 670,449 810,000 A 139,551
405 XHoHF S HI 670,449 810,000 A 139,551
01 et ESFH S 670,449 810,000 A 139,551
Osgdits 2 2el 141,642
O8I wA(1t) 19,000,0008 » 104 19,000
OSRIMEASSE X uH
47,020,000& = 1CH 47,020
OfALZI| AT
29,000,000& = 24l 58,000
OISt HAAAE B4
17,622,000& * 10CH 17,622
OLXSEE HNEH RSAIAEH 2 52,807
OJt&k st A B (H/W) 15,807,000& * 1CH 15,807
O M (S/W) 5,500,000& * 12 5,500
ODI SN (S/W) 9,900,000& * 1= 9,900
OAE2I X (H/W) 21,600,000& = 1CH 21,600
OYSES daFHl WA 476,000
ol sa=H 1,400,000& * 280CH 392,000
oZgd 600,000& * 100CH 60,000
o=zud 400,000 = 3504 14,000
O=Z2d 10,000,000& * 1CH 10,000
gt ASole SHOIX 2F 480,594 461,797 18,797
HEN QWAL GFN 2 480,594 461,797 18,797
201 ¢4l 479,694 433,647 46,047
01 At 2t 2l 48,900 18,810 30,090
OWdE HOZ Z A2F P2 3,900,000 3,900




A 3E2SA
M 21 = Lo - ¥
Chel: A2 ASdl= SHOIX 29 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OZMHOIXl OI2X SH=EA &4 2
45,000,000& * 14l 45,000
02 =224l 430,794 414,837 15,957
OQHY Zoelzel |Xdl 42,0008 * 45F 1,890
OAMMIA(BTUE) 25 AER
2,000,000& = 14 2,000
OUMHI(MEEY, HY) 9= ABE
1,100,000 * 14| 1,100
OZ2XHAIXNIMEIA Ol 2
150,000& » 4044 « 12& 7,200
OAl EHOIX S8 |XE==Hl 204,108
OWUE SHOIX 2 113
4,708,340 ~ 123 56,501
OMIAEHOIX 2 168
5,083,340& » 123 61,001
OmZelSmolX 288  3,708,770& = 12& 44,506
O=&d ¥ S88=s 478  3,508,330& » 123 42,100
OR2UtL B ANHIA(7TS) 1,235,270 * 128 14,824
OZHOIX 28 AZE/NH KXE=H 74,002
OUE EHOIX OIEHHOIA &2 ATES
o (38) 1,200,000& = 12& 14,400
OEHOIX 8 A2ZEYAH(25)
600,000& = 12& 7,200
OEHOIXN 8 AZEYAH SLEZ(25)
296,000& = 123 3,552
OZHtY EHOIX 2% AZEF0(25)
183,340& » 12&8 2,201
OZMHOIX Jtatst 28 2ZEAN
866,670 = 12& 10,401
OZEHOIK HMERH 291,670& » 123 3,501
OMH EotZ=z23 90,000& * 123 1,080
Ods8l 2ZEHYA 130,000& * 128 1,560
ORAMLYMH A 2TEYO
323,340& « 12& 3,881
OZHOIX e AZTEAA(2T)
518,420 = 12& 6,222
odgZd 202,950& » 12& 2,436
OSEERAANAY 29 LATE U (2T)
792,920 » 12& 9,516
OEZHHAIAH 29 AZEHA
671,000& = 12& 8,052
OAEHOIX ot=/0 288 |FXNLE=H 125,670
OUNESHOIX MH
746,6703 * 200 » 12& 17,921
OUWEZSHOIX AKXl 346,670 = 12& 4,161
OZHO0IX Jtatst AH 746,670 « 123 8,961




fAE

=
Sl
HE: 210
o

Chel: A2 ASdl= SHOIX 29 (&)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZHOIX Jtatst A&EE|X
400,000& = 12& 4,800
O=Zme e M (2Z)  200,0008 * 128 2,400
OEBOOK/EE ™ 22 MH 44,3704 « 123 533
OME2tE] 22 MH 126,670& » 12& 1,521
O s 2SAH 126,670  12&8 1,521
OAE /U YE AER X
400,340 = 123 4,805
O2HtY ESHOIX 2L MY (25)
80,000& = 12& 960
OEHOIX BHAAAE AN (2F)
46,6803 ~ 123 561
OHE SHOIX HAAAHY AEL|X
533,340& = 12& 6,401
OWEEMHOIX HOIZ ctol=eiel
116,870 » 12& 1,403
OZMHOIX AX MHE+ AE2A
544 6703 = 123 6,537
OAT/AEHU S HHAAR AER[]
166,670 128 2,001
OAtT/IESYS HOIZ 2tolEe el
194,000& » 12&8 2,328
OEHOIX 2ot (gaty 2 78)
2,217, 750& = 12& 26,613
OEHOIX Z2ot&dl 2elMH(45)
349,000& = 12& 4,188
OSSEZMAIAH 198,000& * 128 2,376
ORMENH+E2F HHI(28)
425,670& « 123 5,109
OEZMOHAAE 154,0008 » 12&8 1,848
OEHOIX 29 UWEKIT HHl(H22r2AX
2| 108) 1,560,090& * 12 18,722
301 et A3z 900 650 250
MIIEBE43 900 650 250
OZMHOIXl OI2BHEE &2 XA 0 A& 900
o1& 200,000& * 1¥ 200
O2s 100,000& * 2H 200
O3& 50,000& = 10H 500
HHYSH FESA ML &3 WS 1,534,386 1,595,028 A 60,642
FESAAAEY HEH 2H 1,493,954 1,533,152 A 39,198
201 ¢er24l 1,390,914 1,366,047 24,867
01 At 2t 2l 21,000 21,000 0
OH#FM3 HSE MEH| 8,200
OMNAUEAHRUHUHE
2,000& = 1,00001 = 23l 4,000




fAE

Hm: 210 M2 DO -BF 7
Col HEZA HBEM AMUIA BF N (St &)

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
ORNEHE MBS E
7003 = 3,00001 = 23l 4,200
Ostdz FANESE 228 7Y 10,000
OUTP A0l 500&  9,000m 4,500
Ost& 2,500& = 1,000m 2,500
OslE(BRE) 20,000& = 1004 2,000
ORJ4ER2 & 500& = 2,00004 1,000
OYEHAMS FAX 22372 H| 2,800
OEU3ItECIX 220,000& = 504 1,100
OdstE 3] 30,000 * 5004 1,500
OHdstIl otolaz2 2 A 1,000& * 2004 200
02 3322l 1,369,914 1,345,047 24,867
OFESH UWEHIA U KRANE=l 182,364
OH¥EA2X(8U) 3,821,000& * 128 45,852
O=otZ ALK (8LH) 2,627,0008 * 128 31,524
OL3A I Xl (250H) 1,303,000& * 12&8 15,636
OL2A 2 Xl (21400) 7,446,000 « 12& 89,352
OXE 2l AAE ZHl 7 X2l 1,764
OXt&2tel A 49,000& » 12& 588
OXr&2el &l (60H) 98,000& = 12& 1,176
OISO AAE RXE=HI
750,000& = 12& 9,000
OREEMASSEX(IU) S ANE =l
84,000& = 12& 1,008
ogassll(2i) R X2+t
165,000& » 12&8 1,980
OCHUWHESWEAAE RX2 2| 49,848
OHNJWEAIAE 1,338,000& = 12& 16,056
OXl= IPELII(800CH) 2,816,000 * 128 33,792
OLINEZAEANLAE SN2 =4
182,960& * 12& 2,196
OFKBAAAE LI 4]
469,920 « 123 5,640
OMEB=HAAE ST 2
139,330& » 12&8 1,672
oA KRRl 47,7803 = 102CH 4,874
Od3R= 321,648
OQHY HFH A} 12,000,000& * 12& 144,000
OBt (2l 4)
40,000 = 2203l & = 128 105,600
OFMeE &M (LHEF)
33,000 = 553 « 12& 21,780
OMHMaE Ad&s
17,000& = 173l » 12& 3,468




SN HESAD
MM 21 8=2 DO u-ExF F2&
SRl BISA IBSU NHIA B#Y M ER-ED
= - 4 14
SA - B .G (3AH) - MBAY - BES %Eﬁ HR=2
OSSR XNE 0lsHG
100,000& = 9CH 12€ 10,800
OS2 X AHIA Set2e AIEs
3,000,000& 12€ 36,000
oNg3Hd AIE= 787,920
Oo=2U&8s3 A 206,400
&332 30,000 = 3403 128 122,400
-DE0OXE 1,000,0008 = 33| 128 36,000
-0 XE
2,000,000& = 23| & 128 48,000
OZ2IEEENESES D 575,520
-65M 1,870,000& = 13/ 128 22,440
-30M 1,330,000& = 63| M 128 95,760
-14M 840,000& * 23| M 128 20,160
-5M 540,000& = 253 & 12€ 162,000
—4M 460,000& * 203 &1 128 110,400
-2M 290,000& = 453 M 12€ 156,600
-256K 170,000 = 43| & 128 8,160
(OLEME=FSE=3-1F 500,000& = 13| & 128 6,000
202 044l 1,440 0 1,440
01 ZU 04 b 1,440 0 1,440
O Y YEYT S HIEL 2 LLEA
o4 bl 20,000& * 29 = 32 * 128 1,440
401 Al HI L 2 0HHI 50,540 95,855 N45,315
01 Al&H| 50,000 95,000 A 45,000
OAMSBA THHIXIO [OE FUESAALAZZAH(E2F
JARS A 5,000,0008 * 1002 50,000
03 Al 201 Y| 540 855 A 315
OFEBSAAAE AX ALY
50,000,000& * 1.08% 540
405 XH&HF S HI 51,060 71,250 A 20,190
01 XML 2SS F S| 51,060 71,250 A 20,190
OUHERK A PoEARAX 5,850,000 = 6CH 35,100
OFAX 600,000 = 20CH 12,000
OANEA S22 SUHES 990,000& = 4CH 3,960
He|gt 284 olZet XM 40,432 0 40,432
401 Al HIZ 201 Y| 40,432 0 40,432
01 Al&H| 40,000 0 40,000
OADIEZZ J|JI2H0|IH0] ALY
20,000,000 * 20 40,000
03 Al&E 201 Y| 432 0 432
OFEBSA QlImgt REALY
40,000,000 = 1.08% 432




A 3E2SA
Hm: 210 M= F Do -BE 7
CHelr EMDIE AHIA DHOE A CER-ED
= _ — d =
A FB B (EN) - HRAY - BES 0l &t o il HImEET
SO MHIA DHEEE A 26,300 53,840 A27,540
dESH QAR =& 12,040 53,840 A 41,800
201 Let24d] 8,680 6,680 2,000
01 At 22/l 4,600 2,600 2,000
ONBHAAN SHZY DF242
1,500,000& =+ 2= 3,000
oOsKeA 2= M 1,600
OSAX 300& * 108 * 200% 600
ogsd 100& = 2& » 5,0008 1,000
02 =224l 4,080 4,080 0
OASEZ A SEZEHl |AHl 4,080,000& 4,080
202 044l 3,360 2,160 1,200
01 S LHOIYI 3,360 2,160 1,200
OFESUSAL AHEXHZAL & EEZH (I
20,000 = 2 * 7 * 123 3,360
POHIMEIN(ER) HYYR &E 14,260 0 14,260
201 L2l 2,260 0 2,260
01 At 22l 660 0 660
OtcctitE AZEANFLY 660,0008 = 14 660
02 =224l 1,600 0 1,600
OEEE MYEH 800,000& =« 2CH 1,600
206 M= Hl 3,000 0 3,000
01 =4l 3,000 0 3,000
OEE2 22F F(HH2 S 38)
3,000,000& 3,000
405 TtobFH S| 9,000 0 9,000
01 AL EZFH S 9,000 0 9,000
oHzdE FFRH 5,000,000& = 1CH 5,000
ONASE HI 2,000,000& = 1CH 2,000
OE&JI12I 2,000,000& = 1CH 2,000
HH2IYZH(FESA D) 52,132 50,048 2,084
JlEZ3dl 52,132 50,048 2,084
JlE&l 52,132 50,048 2,084
201 24| 23,092 22,088 1,004
01 At 2t 2l 23,092 22,088 1,004
oJl2geda=dH(JI1E&Hl)
11,500, 000& 11,500
O=ZHI(J1E&HI) 11,592,000& 11,592
202 044l 24,840 23,760 1,080
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4,200
4,200

2|

=

=

24,840,000

01 2 Wb
O©J1=Ztl

KJ
Kt
oF
ol

128

o

o

350,000

0l at)

OJIEZHI(H&30






